

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



In $\triangle ABC$ the following relationship holds:

$$1 + \frac{m_a}{w_a} + \frac{m_b}{w_b} + \frac{m_c}{w_c} \leq \frac{2R(h_a + h_b + h_c)}{r(r_a + r_b + r_c)}$$

Proposed by Bogdan Fuștei -Romania

Solution 1 by Rahim Shahbazov-Baku-Azerbaijan; Solution 2 by Soumava Chakraborty-Kolkata-India

Solution 1 by Rahim Shahbazov-Baku-Azerbaijan

$$r_a + r_b + r_c = 4R + r \text{ and } h_a + h_b + h_c = \frac{s^2 + r^2 + 4Rr}{2R} \quad (1)$$

$$\frac{m_a}{l_a} + \frac{m_b}{l_b} + \frac{m_c}{l_c} \leq \frac{s^2}{4Rr + r^2} \quad (2)$$

$$l_a \geq s_a \Rightarrow \frac{m_a}{l_a} \leq \frac{b^2 + c^2}{2bc}$$

$$\stackrel{(2)}{\Rightarrow} \frac{2s^2}{4Rr + r^2} \geq \frac{a}{b} + \frac{b}{a} + \frac{a}{c} + \frac{c}{a} + \frac{b}{c} + \frac{c}{b}$$

Let: $a = x + y$; $b = y + z$; $c = x + z$ inequality becomes:

R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro

$$\frac{2(x+y+z)^2}{xy+yz+zx} \geq 2(x+y+z) \left(\frac{1}{x+y} + \frac{1}{y+z} + \frac{1}{z+x} \right) - 3$$

$$\frac{1}{2} + \frac{x^2+y^2+z^2}{xy+yz+zx} \geq \frac{z}{x+y} + \frac{x}{y+z} + \frac{y}{z+x}$$

$$\frac{1}{x} + \frac{1}{y} + \frac{1}{z} \geq \frac{2}{x+y} + \frac{2}{y+z} + \frac{2}{z+x} \text{ true from } \frac{1}{x} + \frac{1}{y} \geq \frac{4}{x+y}$$

Solution 2 by Soumava Chakraborty-Kolkata-India

$$\begin{aligned} \text{By Tsintsifas, } LHS &\leq 1 + \frac{1}{2} \sum \frac{b^2+c^2}{bc} = 1 + \frac{\sum ab(2s-c)}{8Rrs} = 1 + \frac{s^2-2Rr+r^2}{4Rr} \\ &= \frac{s^2+2Rr+r^2}{4Rr} \Rightarrow LHS \stackrel{(1)}{\leq} \frac{s^2+2Rr+r^2}{4Rr} \end{aligned}$$

$$\begin{aligned} \text{Now, } RHS &= \frac{2R \left(\sum \frac{bc}{2R} \right) \stackrel{(2)}{\cong} s^2+4Rr+r^2}{r(4R+r)} \therefore (1), (2) \Rightarrow \text{it suffices to prove} \\ &: \frac{s^2+2Rr+r^2}{4Rr} \leq \frac{s^2+4Rr+r^2}{r(4R+r)} \end{aligned}$$

$$\begin{aligned} \Leftrightarrow r(4R+r)s^2 + r(4R+r)(2Rr+r^2) &\leq 4Rrs^2 + 4Rr(4R+r) \Leftrightarrow r^2s^2 \\ &\stackrel{(3)}{\leq} (4Rr+r^2)(2Rr-r^2) \Leftrightarrow s^2 \stackrel{(3)}{\leq} 8R^2-2Rr-r^2 \end{aligned}$$

$$\begin{aligned} \text{Now, } s^2 &\stackrel{\text{Gerretsen}}{\leq} 4R^2+4Rr+3r^2 \stackrel{?}{\leq} 8R^2-2Rr-r^2 \Leftrightarrow 2R^2-3Rr-2r^2 \stackrel{?}{\geq} 0 \\ &\Leftrightarrow (R-2r)(2R+r) \stackrel{?}{\geq} 0 \rightarrow \text{true} \therefore R \stackrel{\text{Euler}}{\geq} 2r \end{aligned}$$

$$\Rightarrow (3) \text{ is true } \therefore 1 + \frac{m_a}{w_a} + \frac{m_b}{w_b} + \frac{m_c}{w_c} \leq \frac{2R(h_a+h_b+h_c)}{r(r_a+r_b+r_c)} \text{ (Proved)}$$

Note by editor:

Many thanks to Florică Anastase-Romania for typed solutions.